CHLOPCY

Rozwiniecie bojowe SZTAFETA
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1 Dlugie 127| 14 1000 80,6 10 909,4 74 89,4 10 74,6 984 I
2 Podniebyle 123| 14 1000 95,4 40 864,6 74 90,8 10 73,2 937,8( IV
3|Zarnowiec 126| 14 1000 102,5 75 822,5 74 98 10 66 888,5| VI
4|Potok 125 14 1000 76,9 35 888,1 74 86,5 20 67,5 955,6( I
5 Dobieszyn 113 13 1000 95,3 50 854,7 77 98 10 69 923,7( V
6|Mecinka 128| 14 1000 87,8 20 892,2 74 94,4 0 79,6 971,8( |
7|0 9000 16 1000 1000 68 168 1168
8|0 9000 16 1000 1000 68 168 1168
9|0 9000 16 1000 1000 68 168 1168
10(0 9000 16 1000 1000 68 168 1168
11(0 9000 16 1000 1000 68 168 1168

NIE WYPELNIAC KOLOROWEGO POLA !
Liczy automatycznie




1000 - czas wyk. - pkt karne = 100 + (czas zat. - czas wyk.) - pkt karne =



